ITI Welder 1st Year Module 1 Introduction of Welding

(1). What is the name called the weld reinforcement is resting on base metal? |

I Hed R fedh §U dte Yo 0l & 1 Hgd & ?
(A) Buttweld | 9C 48

(B) Fillet weld | Tihfelc a8

(C) Toe line | TR P SATel &1 ¥

(D) Toe of weld | aQ'SWCH"j\OI

Correct Answer : D

(2). Which welding process is used for thicker plates? | W@ﬂ%ﬁ'mm
Afe T uforar &1 IuTRT foa SiTaT 82

(A) Shielded metal arc welding | s ‘iﬂﬂﬁ 3T afcgT
(B) Manual metal arc welding | ﬁa&mﬂw 3T AfcET
(C) Sub - Merged arc welding | s 3T aAfegT

(D) Atomic hydrogen welding | &@WB@WW

Correct Answer : C

(3). What action takes if severe bleeding? | WWW@WWWW

g?
(A) Sleep and rest | I 3R R B

(B) Apply pressure on the wound | Yld UX qdld STal

(C) Covered a wound tightly | Udh Yd P HIRR P o1
(D) Rolled - up news paper | TS - 3T AR U=



Correct Answer : B

(4). Which welding process is a slow welding? | DI T AfcE T ufshar dieht afcgm
g?

(A) Carbon arc welding | PHIe Wé’%&"ﬂ

(B) Submerged arc welding | IS 3T AfegT

(C) Shielded metal arc welding | fies ?ﬂﬂﬁ 3T afedT
(D) Atomic hydrogen welding | G@Wfﬂg@mw

Correct Answer : A

(5). Which tool is to be used to remove slag on welded bead? | Je S Sie R drdl
g & AU ford IUHRr o1 SuaNT foran ST /2

(A) Chisel | IENK]

(B) Trysquare | EA'IT&CW

(C) Chipping hammer | ﬁr@ﬂ%m
(D) Ball pane hammer | aTFrﬁFr%m

Correct Answer : C

(6). What is the type of clamp? | FAY BT YR B W%?




(A) C-Clamp | C- iU

(B) U-Clamp | U-3T

(C) Screw clamp | &p FIU

(D) Jig and fixture | TONT 3R flheReR

Correct Answer : A

(7). What is the first aid treatment shown in figure? | ICER:AGRCIRIRIR IR IDIEED
SUAR TG ?

(A) Eyeinjury | 3@ Hdic

(B) Electric burns | fSoTcil oietall &
(C) Electric shock | fosTelt &1 STt
(D) Severe bleeding | TTHR IadwTd

Correct Answer : C

(8). Which of the following injury is common in gas welding? | ﬁ'ﬁmﬁﬁﬁﬁ:{
Gt die T afed o e g2

(A) Electric shock | WWW
(B) Burns due to flame | TH b BHRUT ST



(C) Bleeding due to cut injury | ¢ TIC & HRUT IGTHATT

(D) Injury by hot flying particles | Tlffdszl aral HUN gRI e

Correct Answer : B

(9). Which is to wear for safety while handling thin sheets? | Tddit Irex ol

THTEA & foTT B T R&f BT ST STl 82
(A) Tongs | FIFer

(B) Clamp | &

(C) Hand gloves | BTY & &M

(D) Hand screen | 8TY I ThIH

Correct Answer : C

(10). Which part of hammer is shaped to fit the handle rigidly? | gzﬁéwﬁ?m
BT 880 & HARAT Y fthe H & g 3THR A a1 ST 872

(A) Big hole | fomT g
(B) Eye hole | 3T B
(C) Key hole | & BId
(D) Plain hole | @ BId

Correct Answer : B

(11). What is the use of oxy - acetylene gas welding? | 3Tt Qltlléf'“:l g afgT
HT YA 1 §?

(A) Brazing | SifoiT
(B) Thermit | ?'Iﬁ-];C'



(C) Soldering | TSI
(D) Resistance | IEIE]

Correct Answer : A

(12). Which is the treatment given to a person affected by accident on the spot? |

i IR gHeAT ¥ HIfad afdd &1 &9 I1 IUAR fear Sirdr g2
(A) First aid | TS fIfdreT

(B) Second aid | @ﬁﬁm‘:ﬂ

(C) First treatment | TIYH® STIR

(D) Second treatment | gIRT YR

Correct Answer : A

(13). What is the full form of OAW? | OAW W@WW%’-’
(A) Oxy - Acetylene Welding

(B) Oxy - Acetylene Coal Welding

(C) Oxy - Air Acetylene Welding

(D) Oxy - Acetylene hydrogen Welding

Correct Answer : A

(14). Which operation is to remove burrs from a plate after cutting? | CAG K]

d1¢ U Wi I a9 HepTer & o &I 91 SHuR foar Sirdr g2
(A) Brushing | SIRT bl

(B) Filing | TTSfeiT

(C) Scraping | WHY BT



(D) Chiselling | IS SIS

Correct Answer : B

(15). What is the use of welding torch? | é%m‘cﬁwsfcrqﬁﬂw%?
(A) Mixing the gases | TG ol fremT

(B) Separate the gases | TG} I AT B o

(C) Flow of waste gases | &rtrfirgﬁ@rwm

(D) Return the gas flow | ﬁﬂmﬁamﬁ

Correct Answer : A

(16). How many types of electric arc welding process classified? | 3@% 3Th

AfcET ufehar &1 T THR I Ffferd fhar T g2
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : D

(17). Which tool is used for handling hot metals? | Tﬂf%\’tﬁﬁﬂ%ﬁ%ﬁﬂ
g TP T ITANT fohaT ST 82

(A) Tongs | feer
(B) Shawel | RTidd
(C) Poker | TIhR
(D) Snips | e



Correct Answer : A

(18). What is the effect of ultra violet and infrared rays if a welder exposed to that

rays? | Tf T Ac8R I foh0T o WU& § ST § ol 3fegT aridic 3R 318
fH 0T T T UHTa BlaT 8°

(A) Effect to body | YRR TR YUTd
(B) Effect to eyes | 3G} TR YHTg
(C) Effect to face | a'e:%u?qma

(D) Effect to skin | <ddlT U YHId

Correct Answer : B

(19). Which safety device is used to protect face from ultra-violet rays while

welding? | AfcET HRd THY 3fegT-dTaaIC [HUT I I8 P & & [org fordy gRe
JUBHRT BT STANT {1 ST 82

(A) Tong | CIT

(B) Try square | TT% WPTIR

(C) Hand shield | 208 Tfics

(D) Chipping hammer | I §R

Correct Answer : C

(20). How the gas cylinder are kept in workshop? | gH T A T Rcie I 3@
SId €2

(A) Lie - down position | e - A &t fRufa
(B) Vertical position | Searer fufa
(C) Inclined position | FPTgHT RIT



(D) Support the other cylinder | §FI§ RIcie’ & JUId B

Correct Answer : B

(21). Why should a welder uniform be free of oil or grease while welding? | afegT

FRd TG aes) 1 da A1ga a1 I I Jod 1 g1 dTgy?
(A) To protect the job | Siid P &1 & forg
(B) To reflect the arc rays | WW@WW%W

(C) To avoid catching of fire | 3T HOI‘)(_S:I REEE %]%’I'Q
(D) To protect the welding machine | WW@@?&H%W

Correct Answer : C

(22). What action should be taken, while the cylinder leakage? | RNESNIES

B TR 1 HRATS B! A1eT?

(A) Move to a safe area | for il YRI&(T & T =t SMU

(B) Move to near working area | ®Td &3 & fde d SIld

(C) Move to near main bar | &I §R & UM ST

(D) Move to near welding machine | fcET AR & UM o ST

Correct Answer : A

(23). Which file is having it’s width parallel through out it’s length? | mw‘@?«r
&1 ASTE T3 THETS b JHMTR Bidl 82

(A) Flatfile | Tdic TIgd
(B) Hand file | %'Ugtb_lga
(C) Rasp file | XY WhIgd




(D) Curved file | GHITER BISd

Correct Answer : B

(24). Which part of the hammer fits into the handle for it’s rigidity? | E{ﬁls [ hl

DI T feTT STD HERAT Bl YHTA & ol s9% g5 | fibe frarSrar g»

(B) Pein | TOF
(C) Cheek | i
(D) Wedge | aTrf

Correct Answer : D

(25). How many types of welding processes classified according to heat? | @E%

YR IR e UBHR &1 afceT Ufshanat &1 arfiepd fobam a1 g2
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : B



